=5 Ny —+H—= 2z AY A
20224E  #i X Bl & FLOM B B B o Am R (AR (% /mnl)
X5 4 H 5 H 6 H 7 H
=14 —3.4 —5.4 —10.4—20.420.5==3.4 =104=1.4 —3.4 —5.4 —10.4—20.420.5==3.4 =10.4=1.4 —3.4 —5.4 —10.4—20.420.5= =34 =104=1.4 —3.4 —5.4 —10.4—20.420.5= =34 =104
Hi X (s %) (& %) (& %) (& %)
% % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % %
payas 96.2 3.8 96.2 100.0 1 97.8 2.2 100.0 100.0 1 93.7 2.7 1.6 2.0 96.4 100.0 | 94.1 5.2 0.8 99.2 100.0
7‘:”7’5[1 100.0 100.0 100.0 | 95.6 4.4 100.0 100.0 1 94.1 5.9 100.0 100.0 1 96.1 3.9 100.0 100.0
BN 97.3 2.7 0.0 100.0 100.0 /193.6 5.5 0.9 99.1 100.0 197.8 2.2 0.0 100.0 100.0 198.2 0.3 1.0 0.4 0.0 98.6 100.0
?&?\3 100.0 100.0 100.0 1 99.9 0.1 100.0 100.0 1 97.0 3.0 100.0 100.0 | 98.6 0.1 1.3 98.7 100.0
7F@U_l 100.0 100.0 100.0 1100.0 100.0 100.0 1100.0 100.0 100.0 1 93.3 6.7 100.0 100.0
()E.% 99.0 1.0 100.0 100.0 1100.0 0.0 100.0 100.0 | 95.6 4.4 100.0 100.0 | 97.5 2.5 100.0 100.0
HET}E 100.0 100.0 100.0 1 96.4 3.6 100.0 100.0 | 98.2 1.8 100.0 100.0 1 93.1 4.9 2.1 97.9 100.0
Df% 97.4 2.6 100.0 100.0 1 94.5 5.5 100.0 100.0 1 93.1 1.3 5.5 93.1 100.0 [100.0 100.0 100.0
+H}9'$ 97.9 1.9 0.2 0.1 99.7 100.0 1 97.4 2.3 0.1 0.1 0.1 99.8 99.9 197.2 2.0 0.3 04 0.1 99.3 99.9 1948 4.0 0.6 0.6 0.1 98.8 99.9
Y 98.9 0.6 0.1 0.4 99.5 100.0 1 97.9 1.1 0.3 0.5 0.3 99.0 99.7 196.9 2.3 0.4 0.5 99.1 100.0 97.0 2.3 0.1 0.5 0.1 99.3 99.9
R 98.4 1.2 0.1 0.2 0.1 99.7 99.9 198.2 1.7 0.2 99.8 100.0 |197.0 2.7 0.2 0.1 99.7 100.0 1 96.0 3.2 0.3 0.4 0.2 99.2 99.8
HaE 98.1 1.6 0.3 99.7 100.0 | 98.1 1.7 0.1 0.1 99.8 100.0 196.9 2.7 0.2 0.2 99.6 100.0 96.6 3.2 0.2 99.8 100.0
S/ 98.8 0.9 0.3 99.7 100.0 | 98.6 1.2 0.2 99.8 100.0 198.9 0.9 0.3 99.7 100.0 98.0 0.9 0.7 04 98.9 100.0
%’Eﬁ 946 2.0 2.8 0.6 96.6 100.0 94.4 49 0.7 99.3 100.0 1 95.7 3.7 0.5 99.5 100.0 1 95.7 3.4 0.9 99.1 100.0
oy 98.2 1.4 0.2 0.1 0.0 99.6 100.0 197.6 2.0 0.2 0.1 0.1 99.7 99.9 197.1 2.3 0.3 0.3 0.0 99.4 100.0 | 96.1 3.0 04 04 0.1 0.0 99.1 99.9
202 14 EAH 97.7 1.9 0.2 0.2 0.0 99.6 100.0 | 98.2 1.6 0.1 0.1 0.0 99.8 100.0 | 97.5 1.9 0.3 0.2 0.1 0.0 99.4 99.9 97.0 2.3 0.3 0.3 0.0 99.4 100.0
20204 E44 98.3 1.6 0.1 0.0 0.0 0.0 99.8 99.9 /1976 2.0 0.2 0.2 0.0 0.0 99.6 100.0|98.1 1.5 0.2 0.1 0.1 99.6 99.9 197.9 1.8 0.2 0.1 0.0 99.6 100.0
X7 8 H 9 H 10 H 11 H

=14 —3.4 —5.4 —10.4—20.420.5==3.4 =104=1.4 —3.4 —5.4 —10.4—20.420.5==3.4 =104=1.4 —3.4 —5.4 —10.4—20.420.5= =34 =104=1.4 —3.4 —5.4 —10.4—20.420.5==34 =104
Hi X (% %) (% %) (% %) (% %)
% % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % %
Eé? 96.9 3.1 100.0 100.0 | 95.7 1.8 2.5 97.5 100.0 | 97.6 2.4 97.6 100.0 [100.0 100.0 100.0
%fﬂ 97.7 2.3 100.0 100.0 1100.0 100.0 100.0 1 98.1 1.9 100.0 100.0 1 98.3 1.7 100.0 100.0
)1 945 46 0.6 0.3 99.1 100.0 95.6 4.0 0.0 0.4 99.6 100.0 1 95.1 4.2 04 0.3 99.3 100.0 1 95.4 3.5 1.2 98.8 100.0
#%i& 96.4 3.6 100.0 100.0 94.4 3.0 2.6 97.4 100.0 1 97.0 3.0 100.0 100.0 92.5 2.5 2.5 2.5 95.0 100.0
*@U—l 100.0 100.0 100.0 1100.0 100.0 100.0 1100.0 100.0 100.0 1100.0 100.0 100.0
VE% 97.6 2.4 100.0 100.0 1 98.9 1.1 100.0 100.0 1100.0 100.0 100.0 1100.0 100.0 100.0
Hﬁ?}ﬂ? 96.9 3.1 100.0 100.0 1 97.9 2.1 100.0 100.0 1 98.4 1.6 100.0 100.0 1100.0 0.0 100.0 100.0
H & 88.1 7.3 1.5 3.1 95.4 100.0 93.0 3.8 3.2 96.8 100.0 1 97.5 1.5 1.0 99.0 100.0 1 95.8 2.7 1.5 98.5 100.0
—+ b5 95.4 3.5 0.6 0.6 98.8 100.0 95.5 3.9 0.1 0.4 0.1 99.4 999 97.7 19 04 99.6 100.0 98.2 1.6 0.1 0.1 99.9 100.0
Elbs 95.7 3.4 0.3 04 0.2 99.1 99.8 96.5 2.8 0.5 0.1 99.3 100.0 1 95.8 3.4 0.3 0.3 0.1 99.3 99.9 196.4 3.1 0.1 0.4 99.5 100.0
e 95,5 3.9 0.2 0.5 99.4 100.0 96.9 2.4 04 0.3 99.3 100.0 1 98.4 1.2 0.2 0.2 99.6 100.0 1 97.7 1.7 0.3 0.3 99.4 100.0
W 96.5 3.0 0.1 0.3 99.5 100.0 1 96.5 3.0 0.3 0.2 99.5 100.0 1 97.2 2.4 0.2 0.2 99.6 100.0 1974 2.2 04 99.6 100.0
A 98.1 1.4 0.5 99.5 100.0 1 99.1 0.7 0.2 99.8 100.0 | 98.1 1.1 0.9 99.1 100.0 98.2 1.3 0.5 99.5 100.0
FF B4 94.0 5.1 0.9 99.1 100.0 1 95.5 3.5 1.0 99.0 100.0 | 98.1 1.9 100.0 100.0 91.4 8.6 100.0 100.0
Sy 95.7 3.4 04 0.4 0.0 99.2 100.0 96.4 3.0 0.3 0.3 0.0 99.4 100.0 97.5 2.0 0.3 0.1 0.0 99.5 100.0 97.5 2.1 0.3 0.1 99.6 100.0
20214FE###E 96.8 2.6 0.4 0.2 0.0 0.0 99.4 1000 975 19 0.3 0.3 0.0 99.4 100.0 1 97.2 2.2 0.3 0.4 99.3 100.0 1 97.6 2.0 0.2 0.2 0.1 99.5 99.9
20204FEFAE 97.7 2.0 0.2 0.1 0.0 99.7 100.0 976 1.9 0.3 0.2 0.0 99.5 100.098.5 1.3 0.1 0.1 0.0 99.8 100.0 1 98.7 1.2 0.0 0.1 0.0 99.8 100.0




202240 M X B A ¥ B BB B o A & (AR (55 /ml)
A

X455 12 H 1 2 H 3 H
=14 —3.4 —5.4 —10.4—20.420.5= =34 =104=14 —3.4 —5.4 —10.4—20.420.5= =34 =£104=1.4 —3.4 —5.4 —10.4—20.420.5==3.4 =£104=1.4 —3.4 —5.4 —10.4—20.420.5==3.4 =10.4
HiX (% %) (% %) (% %) (% %)
% % % % % % % %N % % % % % % % % % % % % % % % % % % % % % % % %
Eé? 98.1 1.9 100.0 100.0 1 100.0 100.0 100.0 1 98.9 1.1 100.0 100.0 /100.0 100.0 100.0
gl 97.1 2.9 100.0 100.0 1 98.4 1.6 98.4 100.0  92.8 7.2 100.0 100.0 | 98.2 1.8 100.0 100.0
I 96.8 3.2 100.0 100.0 96.8 2.9 0.4 99.6 100.0 |95.7 4.0 0.3 99.7 100.0 |96.7 3.3 100.0 100.0
?&?\3 94.2 3.2 2.6 97.4 100.0 | 100.0 100.0 100.0 1 99.7 0.3 100.0 100.0 1 100.0 100.0 100.0
7F@U_l 100.0 100.0 100.0 1 100.0 100.0 100.0 1 100.0 100.0 100.0 1 100.0 100.0 100.0
7&% 97.2 2.8 100.0 100.0 1 95.2 4.8 100.0 100.0 1 96.0 4.0 100.0 100.0 1 99.0 1.0 100.0 100.0
HET)E 100.0 100.0 100.0 1 100.0 100.0 100.0 | 98.0 2.0 100.0 100.0 | 95.5 4.5 100.0 100.0
Df% 97.3 2.1 0.7 99.3 100.0 |100.0 100.0 100.0 ' 97.0 3.0 100.0 100.0 /100.0 100.0 100.0
+®s  198.8 0.9 0.1 0.2 99.7 100.0 96.8 2.9 0.2 0.1 99.8 100.0 96.8 2.7 05 0.1 99.5 100.0 | 97.8 2.0 0.2 99.8 100.0
I 976 2.2 0.1 99.9 100.0 97.5 2.3 0.2 0.1 99.7 100.0 1 97.5 2.2 0.2 0.1 0.1 99.6 99.9 97.7 2.1 0.1 0.1 99.8 99.9
E 984 1.2 0.2 0.2 99.6 99.8 98.0 1.6 0.3 0.1 99.6 100.097.9 1.5 0.3 0.3 0.1 99.4 99.9 /983 14 0.1 0.2 99.8 100.0
A 986 1.3 0.1 99.9 100.097.4 1.9 0.2 0.5 99.2 100.096.7 2.4 0.2 0.2 0.2 0.2 99.2 99.6 97.7 2.0 0.2 0.1 99.7 99.9
=R 1973 2.1 0.5 99.5 100.098.2 1.6 0.2 99.8 100.098.3 1.7 100.0 100.0 97.7 2.0 0.3 99.7 100.0
%’Eﬁ 95.8 4.2 100.0 100.0 1 96.7 3.3 100.0 100.0  97.8 2.2 100.0 100.0 1 99.2 0.8 100.0 100.0
S ¥ [98.2 1.5 0.1 0.1 0.0 99.7 100.0]97.4 2.2 0.2 0.2 99.7 100.0/97.2 2.3 0.3 0.1 0.0 0.1 99.5 99.9 979 1.9 0.1 0.1 0.0 99.8 100.0
2021459245 98.2 1.5 0.1 0.1 0.0 0.0 99.7 1000 98.0 1.6 0.1 0.2 0.0 0.0 99.6 99.9|97.7 1.8 0.3 0.2 99.5 100.097.8 1.7 0.2 0.3 99.5 100.0
20204 FEEER 98.3 1.4 0.2 0.1 0.0 99.7 100.0 1 98.0 1.6 0.3 0.1 0.0 99.6 100.0 1 97.6 2.0 0.2 0.1 0.0 99.7 100.0 197.7 1.8 0.2 0.3 0.1 99.5 99.9
X453 ¥ (4H~3H)
=1.4 —3.4 —5.4 —10.4—20.420.5= =3.4 =10.4
Hi X (% %)
% % % % % % % %
LR 1974 15 0.7 0.4 98.9 100.0
7250 97.2 2.7 0.1 99.9 100.0
)1 96.1 3.3 0.4 0.1 0.0 99.5 100.0
ik 975 1.6 0.6 0.3 99.1 100.0
Licgin 99.4 0.6 100.0 100.0
R 98.0 2.0 100.0 100.0
JilEE7= 97.8 2.0 0.2 99.8 100.0
HeE 961 2.4 07 0.8 98.5 100.0
+B 197.0 25 03 02 0.0 99.5 100.0
g% 1971 2.3 0.2 03 0.1 99.4 99.9
E 975 2.0 02 02 0.0 0.0 99.5 100.0
ME 973 2.3 02 02 0.0 0.0 99.6 100.0
TR 98.3 1.3 0.3 0.1 99.6 100.0
] 95.7 3.6 0.6 0.1 99.3 100.0
¥y (972 23 0.3 0.2 0.0 0.0 99.5 100.0
20214E59245 97.6 1.9 0.2 0.2 0.0 0.0 99.5 100.0
202045945 98.0 1.7 0.2 0.1 0.0 0.0 99.7 100.0




